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QUESTION 1

Which screen will be displayed as a result of executing the following code? 

A. Option a 

B. Option b 

C. Option c 

D. Option d 

Correct Answer: B 

 

QUESTION 2

Which will be displayed in TextView01 when executing the following code? 

Latest OA0-002 Dumps | OA0-002 VCE Dumps | OA0-002 Study Guide                                2 / 4

https://www.geekcert.com/oa0-002.html
https://www.geekcert.com/oa0-002.html
https://www.geekcert.com/oa0-002.html


https://www.geekcert.com/oa0-002.html
2024 Latest geekcert OA0-002 PDF and VCE dumps Download

A. "Hello World" will be displayed. 

B. "Hello" will be displayed. 

C. It is undetermined which will be displayed, "Hello World" or "Hello". 

D. A runtime exception will be thrown. 

Correct Answer: C 

 

QUESTION 3

Which of these is the correct explanation regarding the following methods? 

(1 )android.content.Context.sendBroadcast 

(2)android.content.Context.startActivity 

A. Both methods are defined by overloading. 

B. Both methods throw an exception. 

C. Both methods are asynchronous. 
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D. Both methods are able to broadcast an Intent. 

Correct Answer: D 

 

QUESTION 4

Which of these is the incorrect explanation of BroadcastReceiver? 

A. Receives an explicit Intent 

B. Receives an implicit Intent 

C. Receives a broadcast Intent 

D. Receives an Intent with a registered Permission 

Correct Answer: A 

 

QUESTION 5

Which of these is the incorrect explanation of Android license form? 

A. The libraries included in the Android platform all share the same license. 

B. Android uses Linux, which is licensed under the GPL. 

C. Apache License 2.0 applies to most parts of the Android platform, excluding Linux. 

D. Applications developed for Android can be licensed under the GPL. 

Correct Answer: A 
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